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], The static coefficients of friction are 0./ for all
(20%) contacting surfaces. Determine the force P required to
mitiate movement of the blocks 4 and B. |

Fipure 1

o

A collar 4 having a mass of § 'Kg can shide without
(20%) friction on a pipe. If released from rest at the position
shown, where the spring is unstretched, what speed will

the collar have after moving 50 mm? The spring constant,
15 2,000 N/m.

- Figurel
- A disk of mass m and moment of inertia / is released
(20%) from rest on an inclined surface (Figure 3). Assuming
that 1t rolls, what 1s the velocity of the disk's center when

it has moved a distance 57
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Lrgure 3
4. FFor the beam and loading shown in Figure 4,
(20%) determine 11 v he roller suvnort
(a) determme the reaction at the roller support.
(b) Draw the bending-moment diagram.
(¢) Determme the deflection at the midpoint (¢ of the
sparn. .
P Hipure 4
5. A composite beam having the cross-sectional dimensions
(20%) shown in Figure 5 is subjected to a positive bending & .
. : 7
- moment M= 35000 in-/b. Calculate the maximum and ///’/
minumum stresses n both materials of the beam assuming o -
, . , in 7
£,= 1,000,000 psi. and I,= 20,000,000 psi. | ///
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